Re, [ Code No. 9019 |
Na ¥

Time : 2 Hours
Cool-off time ; 15 Minutes

[ Second Year — March 2018 J

Part - 111
COMPUTER SCIENCE

Maximum @ 60 Scores

/Gem'ml Instructions to Candidates : \
®  Thereis a *Cool-off time” of 15 minutes in addition to the writing time.

®  Use the *Cool-ofT time’ to get fumiliar with questions and o plan your answers.
&  Read guestions carefully before answering.

® Read the mstructions carefully.

® Calculations, figures and graphs should be shown in the answer sheet itself.

®  Malayalam version of the questions is also provided.

& Give equations wherevef necessary.

e Flectronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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I/\\s Answer all questions from 1 to 5 : (1 score cach)

{Seores : Sx 1 =5)

1. Showing only the essential features and hiding complexities from Outside Werld refers

L]

attribute.
4. What is the expansion of LAMP 7

Mew domain names are checked in the database of

registration.

Answer any nine gquestions from 6 to 16. (2 score cach)

dentity the correet errors in ihe following code fragment ;

g‘ Struet

int regno;
char name [20];

float mark = 100;

3 The space between content and cell border in o table can be changed using

2. Name the data structure where memory allocation is done only at the time of execution.

_ before approving

(Scores : 9x 2= 18)

7. What is the difference between static and dynamic memory allocation 7

\ Write an algorithm to add a new item into a stack.
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Struct

int regno;
char name [20];
float mark = 100;
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Write the HTML code fragment to insert an image “Profile. jpg” aligned in center of o
wehpage.

The following code in HTML will call the ShowMessage ( ) in JavaScript.
“input type = “button” value = *show’ onClick = “ShowMessage ( )™
Maodify the code to call the ShowMessage{ ) when ¢

(a)  User moves the mouse over the button,

by User presses any kev on the kevhoard.

Consider two strings “Education is the most powerful weapon™ and Wou can use o
change the world™,

Write JavaScript code tw

{a)  Store these strings in two variables.
ib)  Combine the two string variables,
N

1Z. Whatis a primary key ? What is the significance of primary key in a relation 7

3. Consider the given table SPORTS and write relational expressions for the following

questions :
P/D Name Goals | Games
1 Mardona 90 85
2 Carlos 70 08
3 Messi B0 44
4 Robert 75 ]

fa)  Select the name of all plavers.

{b)  Select name and goals scored by plavers whe hive seored more than 70 poals.

the global variables used for passing data vaog HTTP GET and POS T TCLUCSTs,

4



97 am) sousni’ easdlend aavyomlenal “Profile jpg” apom meard pdag|syommmmil-
mae HTML edan ag)wymid.

10. ey aowym HTML esoar’ ShowMessage () apam JavaSeript arstiausm
nilglasmamn)
<imput type = "button” value = *show” onClick = “ShowMessage ( )™=
MIOF AIOWAN GadBiEnles memymualsl ShowMessage( ) nilglencnd caond’
@l mlan ;
(a)  @oud aomisugen) aeglenas velajlonemiogd.
()  wud slempndles agemalens alwilel madomiemiod.

11, " “Education is the most powerful weapon™ o “you can use to change the world” @o
mard JavaScript miiSlewniamaaam.
JavaScript @mant a9,
(a) @9 miSueans o codomig)naln mu)eailes)s.
b} @ emd cadlomilgsos muscwosaflon)m.

12, Primary key ofymomd afymnosm 7 @n) dleeieuailad primary key @ias (alowdmie
aq)maET

13, moaw  @oammn  SPORTS  apam esenilglom  meslounomases  closiauemad

Af) Tl In 0BT )9 3m)as
PD Name Goals | Games |
I Mardona 90 85
2 Carlos T o8
3 Messi 80 49
4 Robert 75 60

(a)  nPE SHEISHIDINSWE Cald Ao SHTDEOETINSON .
(b) 70 euoglmd a)s)mod aesls] salasonies Name, Goals amoasmms) o).

4. HTTP GET-ga POST request @o @nicaouflaj anng Saca0td palcoulaarm
ayposnmd caitlonilamud agemonaawasm !
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5. Wha is eyberspace 7 How cyberspace has influenced our life ?
6. What is Antificial Newral Networks ?

Answer any ninc questions from 17 to 27. (3 score each) (Scores : 9x3=127)
".y" Resd the tollowing code fragment :
int a [ ]={5.10, 15, 20, 35}
int+p=a:
Predict the output of the following statements
[a) coul =< «p:
(b)Y  cout << +p+ [;

(e} eout-- =(p+ 1)

-
\.

jj What is the object oriented programming paradigm ! Give any two advantages.
G} What is data structure 7 How are they classified 7
M), List and explain any three attributes of BODY tag in HTML.

1. Idenuify suitable JavaSeript data types for the following :
fa) - “super computer”
(hy  “true”
(¢) o675
¥ il
3 What is Responsive Web Design 7 What is its significance in modern computing
: devices ?

a4
/D:: ime the following terms :
)K:: Relation
Candidate key
[ Tuples and attributes
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Cvberspace  ag)amoamd apamas 1 Cyberspace MImSS sHnl@mamm  afsmna
mopuilaileaymmy !

Artificial Neural Networks afamons apamaam

ulomey MoE DAAIHICVINNOVIDN ABIMBIE> AMaITT Ga103)SIASE

aomopaw)md. (3 eapad aflaa) (eapadmy : 9% 3=17)

moas unaan C+ eadny uaeulan)s: |
inta]=15101520.25%
e #p =
WO AIOWIIN C2DBABHOS FVGaLG OIS |
(a) cout << sp
thy wout<< =p+ I:
(¢) cout=<«{p+ 1)

agmaam  object oriented programming paradigm 7 nRE@ENEL]e ®enE UnSeIud
e

Data Struclure f)maad af)TnosTn | @l af)@nserT classity B1aiogde !

HTML @8 pascoauioman BODY soullaad ayrm iy enendla] nilvsacal
Ay eY T

FORY  GOFTIN  ALOQduBas  MRMEWIRAW B0 (el WIPAaS]
il 8] | LTV ) 30N ©

{a)  “super computer”

{hy  “true”

{c) 67.5

somisamqiie] emmf adlleemuad  amamd amm | @Rl anmuyglsul
Datdasmanglo’ molond (owamis apmaaT !

WO AIHDYTN AIRENSINSs AAdQ IMaaYm)d -
(a)  Relation

{h) Candidate key

(¢) Tuples and attributes
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24, Write short notes on any three data tvpes in SOL.

“‘_a." 251 What i5 the difference between echo and print in PHP 2

/ﬁ} efine the following cyber crimes
Cgay —tdentity Thefl
“th—Harassment

(v} Impersonation and cheating
27, Briefly explain different types of cloud services.

Answer any two questions from 28 to 30, (5 score each) (Scores : 2 x 5= 10)

28, Write SQL queries based on the table STUDENT given below :

SiD Name Group M, | M, | M, | Total | Percentage

6001 | Diana Commerce 80 85 93 260

6002 | Ziang Humanities T0 75 80 225

6003 | Zachary | Humanities | 90 | 95 | 95 280

G004 | Priva Commerce 70 60 65 195

fa)  Add anew field pereentage to the table. %
(b} Update percentage of all students. (Percentage = Total/3)

(¢} Find the average of column total from student in commerce batch,

(d)  Delete all students in Humanities batch.

{e)  Find the number of students whose percentage is greater than 90,

29, (a) Name the different lypes of communication on the web and explain briefly.

{Scores : 3)
{b)  What is a web server ? (Scores : 2)
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PHP milee echo mio print @- mogilenss aymipruaammaa

WIS IDTN BOTUTUS Byl mildgya e :

{a)
th)
(eh

Identity Theft
Harassmem

Impersomation and cheating
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moere manidlaman STUDENT agam essnilglom arskrucomases SQL query-ad
AP ¢

SID | Name Group M, |M, | M, |Total | Percentage

6001 | Diana Commerce | B0 |83 |95 | 260

o002 | Ziang Humamities |70 |75 |80 | 225

o3 | Zachary | Humanities | 90 |95 95 280

o004 [ Priva Commerce |70 |6 | 65 195
{a)  Percentage aom anmiay 8o arfiodad catdana,.
(b} apgd aglagesms percentage update Sastgyyé. (Percentage = Total/3)
) eaveadmiwaflon aglaans es25eile0) MRNICOE GRS,
() anpasmiginyauoafloc: ags aiskecame aflens aa g,
fe) O vum@omaErod ansimel aodes emslw aglemes af)lo dhOETROD .
{a)  eoanjeer alnlw mos mweolrlaceom ;a.;n'l_ﬂ' {communication)

X R L (eapodmy : 3)

(b} apomoen ecusry mudoud ? (empodoy’ : 2)
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30 ldentify errors in the following HTML code :
(a) =ULtype="A"start=5>
(b)  =hl><b=webprogramming < /b =< /i =< /hi =
(€} < imgsrc="Profilejpg’ size = 50 >
{d) < ahref="Contactfi pmail.com™ >
{e) < frameset rows = “30%, 259, 25%" >
= frame sre = *Lhtm|” >
< frame sre = “2 himl™ >

< /tframeset >
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